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T*Amount of
threshold steps Lg=0,1cd/m2
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F=A1(F3’/F3+F4’/F4);

A1=68.73
A2=0.61
A3=1.0
A4=0.33
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T*Amount of
threshold steps Lg=1cd/m2
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F=A1(F3’/F3+F4’/F4);

A1=86.31
A2=−0.18
A3=1.0
A4=0.33

LI 0,4s A
equation



TE570−4A_3

T*Amount of
threshold steps Lg=10cd/m2
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x=logL
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F=A1(F3’/F3+F4’/F4);

A1=108.4
A2=−0.99
A3=1.0
A4=0.33

LI 0,4s A
equation



TE570−4A_4

T*Amount of
threshold steps Lg=100cd/m2

−3 −2 −1   0   1   2
    0

  50

100

150

200

x=logL

x y
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F=A1(F3’/F3+F4’/F4);

A1=136.39
A2=−1.79
A3=1.0
A4=0.33

LI 0,4s A
equation



TE570−4A_5

T*Amount of
threshold steps Lg=1000cd/m2
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x=logL

x y
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F=A1(F3’/F3+F4’/F4);

A1=172.8
A2=−2.61
A3=1.0
A4=0.33

LI 0,4s A
equation


